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for Module 3. Special, clinical and ecological microbiology

The bacteria involved in the production of dental caries is/are
A. Streptococcus mutans
B. S sanguis
C. Both (a) and (b)
D. Streptococcus pyogenes

A 12 year old boy presents with acute onset of sore throat, fever to 38.9 degrees C and painful anterior cervical lymphadenopathy. On exam the pharynx is red and swollen and the tonsils are covered with yellow-white exudate. The child also has halitosis. Which of the following non-suppurative complications are of concern?
A. Sinusitis
B. Acute rheumatic fever alone
C. Acute glomerulonephritis alone
D. Acute rheumatic fever and acute glomerulonephritis
E. Scarlet fever alone

Protein A is found in cell wall of
A. coagulase-negative staphylococci
B. Staphylococcus aureus
C. Micrococci
D. none of these

The most common cause of cystitis (after Escherichia coli) in healthy sexually active women is
A. Staphylococcus saprophyticus
B. Proteus mirabilis
C. Pseudomonas aeruginosa
D. Klebsiella pneumonia

The toxin of Staphylococcus aureus that may result into scalded skin syndrome is
A. Enterotoxin
B. Leucocidin
C. Epidermolytic toxin
D. Haemolysin

Bacteria which produces coagulase is
A. S epidermidis
B. S saprophyticus
C. S aureus
D. S hominis

Most strains of Staphylococcus aureus indicate
A. phosphatase production
B. a golden-yellow pigment
C. β-haemolysis on sheep blood agar
D. all of the above

A 20 year old patient comes to the homeless clinic with a skin abscess on the right arm. A swab from the intact skin overlying this abscess grows coagulase negative staphylococci. An aspirate obtained sterilely with a needle and syringe grows Staphylococcus aureus. About these 2 organisms in this patient you can say:
A. Both are normal flora and contaminated the specimens sent to the lab
B. The staph aureus is a pathogen and the coagulase negative staph is not
C. The coagulase negative staphylococcus is a pathogen
D. The coagulase negative staphylococcus is an opportunistic pathogen

The bacterial sore throat is caused by
A. Staphylococcus aureus
B. Haemophilus spp
C. Streptococcus pyogenes
D. Mycoplasma pneumonia

Streptolysin O is
A. antigenic
B. oxygen-labile
C. heat-labile
D. all of these

Which disease is incorrectly matched with the causative agent?
a. viral conjunctivitis—adenovirus
b. river blindness—Onchocerca volvulus
c. smallpox—variola virus
d. gas gangrene—Staphylococcus aureus

Name the organism(s) most commonly associated with cellulitis.
a. Staphylococcus aureus         
b. Propionibacterium acnes       
c. Streptococcus pyogenes
d. both a and b 
e. both a and c

Staphylococcus aureus can be responsible for which of these following conditions?
A. Impetigo      
B. Food poisoning       
 C. Toxic shock syndrome
D. Scalded skin syndrome                     
E. All of the above

What is arrangement of the cells of Streptococcus pyogenes 
a. in pairs
b.in chain
c. in clusters 
d. single cells
e. all variants  

What is most virulent species of genus  Staphylococcus
a. Staphylococcus epidermidis
b. Staphylococcus saprophyticus
c. Staphylococcus aureus

Genus Staphylococcus is 
a. Gramm –negative
b. Gramm - positive 
c. Neither  Gramm – positive, nor Gramm –negative

What is selective media for Staphylococcus
a.Thyer –Martin agar
b.Endo
c. Egg yolk salt agar
d. Chocolate agar
e. blood agar

What is differentiate media for Staphylococcus
a.Thyer –Martin agar
b.Endo
c. Egg yolk salt agar
d. Chocolate agar
e. blood agar

What is arrangement of the cells of Staphylococcus aureus
a. in pairs
b.in chain
c. in clusters 
d. single cells
e. all variants 
 
What is arrangement of the cells of pneumococcus
a. in pairs
b.in chain
c. in clusters 
d. single cells
e. all variants  

Meningococcal meningitis is caused by
A. Haemophilus influenzae.      
B. Streptococcus pneumoniae.    
C. Neisseria meningitidis. 
D. Listeria monocytogenes.

Causative agent of gonorrhea 
a. Staphylococcus aureus         
b. Neisseria gonorrhea
c. Streptococcus pyogenes
d. Neisseria meningitidis

Transmission of  Neisseria gonorrhoeae
a. aerosol droplets       
b. fomites       
c. via blood  
d. sexual contact

Transmission of  Neisseria meningitidis
a. aerosol droplets       
b. fomites       
c. via blood  
d. sexual contact

What is arrangement of the cells of Neisseria meningitidis
a. in pairs
b.in chain
c. in clusters 
d. single cells
e. all variants  

Genus Neisseria is 
a. Gramm –negative
b. Gramm - positive 
c. Neither  Gramm – positive, nor Gramm –negative

What is selective media for Neisseria meningitidis
a.Thyer –Martin agar
b.Endo
c. Egg yolk salt agar
d. Chocolate agar
e. blood agar

Which of these bacteria don’t possess capsule  
a. Staphylococcus aureus         
b. Neisseria gonorrhea
c. Streptococcus pyogenes
d. Neisseria meningitidis

All Neisseria are oxidase-positive.
a. true       
 b.false

Which is the best way to prevent meningococcal meningitis in individuals  intimately exposed to the disease?
A. Vaccinate them against Neisseria meningitidis.
B. Treat them with the antibiotic rifampin.
C. Culture their throat and hospitalize them for observation.
D. Withdraw a sample of spinal fluid and begin antibacterial treatment if the cell count is high and the glucose is low.

Virulence factors of Neisseria Meningitides include all, except:
A.  Capsule     
B.  Endotoxin   
C.  IgA1 protease   
D. Protein A

Complications of PID, except:
a. Sterility    
b. Ectopic pregnancy   
c. Peritonitis    
d.  Peri-hepatitis     
e. Ophthalmia neonatorum

Bacteriological examination of purulent discharges from the urethra revealed gram-negative bacteria looking like coffee beans. They were localized in the leukocytes and could decompose glucose and maltose to acid. These are the causative agents of the following disease:   
A Gonorrhoea   
B  Syphilis  
C Veneral lymphogranulomatosis  
D Soft chancre   
E  Melioidosis   

Gram-negative bin-shaped  diplococcus inside and outside of leucocytes were detected on bacteriological examination of the purulent exudates from the cervix of the uterus. Name the 	causative agent of purulent inflammation of the cervix of the uterus.
A  Chlamidia trachomatis  	
B Neisseria gonorroeae  
C Haemophilus vaginalis   
D Trichomonas vaginalis  
E Calymmatobacterium granulomatis  

A 22 year old female graduate student who works in a day-care center comes to the emergency room where you are on duty. The woman complains of a sore throat, which she has had for two days, and it is not getting any better; further, in the last ten hours, the sore throat has been accompanied by a headache as well as nausea, and vomiting. On physical examination you note a BP of 90/65 and a respiratory rate of 30/min; the temperature is 38.5 C. The neck is supple but there are tiny red spots distal to the BP cuff. Considering this patient's personal risk factors (her age) and her physical examination, it is clear that the most likely organism to be causing this patient's illness is:
A. Brucella abortus
B. Staphylococcus aureus
C. Neisseria meningitidis
D. Brucella suis

Which of the following statements about gonorrhea is false?
A. The incubation period is only a few days.
B. Disseminated gonococcal infection (DGI) is almost invariably preceded by prominant urogenital symptoms.
C. DGI can result in arthritis of the knee.
D. Phase variation helps the causative organism evade the immune response.
E. Pelvic inflammatory disease (PID) is common in untreated women.

Which of the following organisms does not cause meningitis?
a. Haemophilus influenzae
b. Streptococcus pneumoniae
c. Neisseria meningitidis
d. Clostridium tetani

Which genus of bacteria has pathogens that can cause blindness in newborn?
0. Branhamella
0. Staphylococcus
0. Streptococcus
0. Shigella
0. Neisseria

The skin blotches in meningitis are due to
a.   blood clots
b.   erysipelas
1. exotoxin in skin
1. skin invasion by N. meningitidis
1. endotoxins in the blood

A complication of genital gonorrhea in both men and women is
0. pelvic inflammatory disease
0. arthritis
0.   blindness
0. infertility
0. urethritis

Which of the following tests can differentiate between classical and El Tor biotypes of Vibrio cholerae? 
0. Sensitivity to polymyxin B. 
0. Agglutination of fowl RBCs. 
0. Sensitivity to Mukerjee's group IV phage. 
0. Antigenic structure 
0. All of the above. 

The DNA coding for the production of cholera toxin in Vibrio cholerae is on the: 
1. Plasmid 
1. Chromosome 
1. Virulent phage 
1. Temperate phage 
1. Transposon 

The colonies of Vibrio cholerae and V. parahaemolyticus can be differentiated on: 
1. thiosulphate-citrate-bile-sucrose agar. 
1. alkaline bile salt agar. 
1. MacConkey medium. 
1. alkaline peptone water 
1. all of the above media 

An engineer recently returned from visiting his family in India develops severe diarrhea. He in fact has cholera. His diarrhea is produced by a protein exotoxin secreted by Vibrio cholerae. How does this toxin act?
1. Stimulates a G protein that activates adenyl cyclase.
1. ADP-ribosylates a chloride transporter.
1. Inhibits a G protein that inhibits adenyl cyclase.
1. Stimulates guanyl cyclase.
1. Inhibits guanyl cyclase.

The classic cause of epidemic cholera is Vibrio cholerae O1. The designation "O1" refers to the antigenic structure of an important component of the bacterial envelope. What is this component?
1. Capsule.
1. Flagella
1. Pili.
1. Teichoic acid.
1. Carbohydrate chains of LPS.

Which of the following members of the Vibrio family cause severe dehydration?
A. Virbrio cholerae
1. Vibrio parahaemolyticum
1. Vibrio alginolyticus
1.  none of the above
1. All of the above

The source of Vibrio cholerae is
1. mice
1. animals
1. natural waters
1. carriers, sick person
1. food

Which of the following tests can differentiate between classical and El Tor biotypes of Vibrio cholerae?
0. Sensitivity to polymyxin B.
0. Agglutination of fowl RBCs.
0. Sensitivity to Mukerjee's group IV phage.
0.        Antigenic structure
0. All of the above.

To determine to which species of vibrios infectious agent belongs, the microbiologist performs some tests on colonies cultured from stool samples. These tests include the following EXCEPT:
1. growth on thiosulfate-citrate-bile-sucrose (TCBS) agar
1. serotyping based on H antigens
1. fermentation of sucrose
1. growth at different NaCl concentrations
1. phagotyping

The large volume of fluid lost by diarrhea during infection with Vibrio cholerae
1. is a consequence of fluid replacement during treatment of the disease and does not result directly from activity of the cholera toxin
1. results from electrolytes binding to the intestinal enterocytes which upsets their water retention capability
1. is caused when the vibrios bind to the intestinal epithelium and physically or mechanically block the uptake of fluids by the gut epithelial cells
1. follows activation of adenylate cyclase by cholera toxin and the subsequent effect of cyclic AMP on water and salt balances of the host cells
1. results from neurotoxic effects of the cholera toxin on the central nervous system

Which of the following bacteria can grow in alkaline pH?
A. Vibrio cholerae.
B. Salmonella.
C. Shigella.
D. Lactobacilli.
E. Neisseria

The large volume of fluid lost by diarrhea during infection with Vibrio cholerae
0. is a consequence of fluid replacement during treatment of the disease and does not result directly from activity of the cholera toxin
0. results from electrolytes binding to the intestinal enterocytes which upsets their water retention capability
0. is caused when the vibrios bind to the intestinal epithelium and physically or mechanically block the uptake of fluids by the gut epithelial cells
0. follows activation of adenylate cyclase by cholera toxin and the subsequent effect of cyclic AMP on water and salt balances of the host cells
0. results from neurotoxic effects of the cholera toxin on the central nervous system

One of the following measures does not prevent Vibrio parahaemolyticus infections:
A. cook seafood for the appropriate time
B. never return cooked seafood to the original container
C. consume alcohol along with raw seafood
D. proper refrigeration
E. vaccinati

Which of the following is not true about the bacterium classified as Vibrio cholerae (V. cholerae 01): 
0. invades the small intestine 
0. is often associated with marine environments 
0. causes disease only through the production of an enterotoxin 
0. reacts with group 1 antiserum against the lipopolysaccharide (0) antigens 
0. arabinose is not fermented 

Which of the following statements is true about the toxin produced by Vibrio cholera? 
1. It has its own adenylate cyclase activity. 
1. The A1 subunit indirectly stimulates the host adenylate cyclase. 
1. The B subunit directly stimulates the host adenylate cyclase. 
1. The toxin blocks the host adenylate cyclase. 
1. The toxin is lypopolisaccharide 

Which of the following bacteria is/are associated with food poisoning due to consumption of sea fish? 
1. Vibrio parahaemolyticus. 
1. V. alginolyticus. 
1. V. vulnificus. 
1. V. cholerae non-O1 
1. All of the above 

Which of the following bacteria is/are non- halophilic? 
0. Vibrio parahaemolyticus. 
0. V. cholerae. 
0. V. vulnificus. 
0. V. alginolyticus 
0. All of the above. 

The main effect of E. coli and Vibrio cholerae enterotoxin on host cells of the gastrointestinal tract that leads to the pathology of the diseases, is to 
4.  inhibit protein synthesis 
4. cause fluid and electrolyte imbalance 
4. cleave host cell membranes 
4. act as superantigens to trigger an overwhelming immunological reaction 
4. initiate a localized inflammatory response in the intestine 

The following occurs during the course of disease due to Vibrio cholerae infection, except one: 
1. Patients show signs of disease at 8 to 72 hrs after ingestion of contaminated food or water. 
1. Patients experience nausea, vomiting, abdominal cramping, and diarrhea. 
1. Patients sustain considerable damage to their intestines. 
1. Patients sometimes lose between 10 to 20 liters of fluid/day. 
1. “Rice-water” stool presents

Toxin of Vibrio cholerae is:
0. LPS
0. Toxic shock syndrome toxin
0. Enterotoxins
0. Hemolysins
0. Toxin - activates adenylate cyclase

The most rapidly bactericidal drug for M-Leprae is 
0. Dapsone 
0. Clofazimine 
0. Ethionamide 
0. Rifampicin 
0. Penicillin 

Neurological involvement is pronounced in which type of leprosy? 
A. Tuberculoid 
B. Lepromatous 
C. Borderline 
D. Lucio leprosy 
E. No correct answer 

Mycobacterium tuberculosis: 
A. Penetrates the alveoli when inhaled 
B. Destroys tissue in the lymph system 
C. Forms lesions around which granulomas form 
D. All of the above 
E. None of the above 

Morphological features of Mycobacterium tuberculosis: 
A. Slender, straight rods 
B. Large, straight rods 
C. Little, оval-shaped rods 
D. Large rods with bulges at the ends 
E. Curved thick rods 

Material for microbiological diagnosis of tuberculosis: 
A. Sputum, pus 
B. Liquor, pleura exudate 
C. Urine 
D. Feces 
E. All answers are correct 

Mantoux‘s test is applied for everything, except: 
A. examination of infection of population by Mycobacterium tuberculosis 
B. selection of persons which need vaccination 
C. revealing of the vaccination efficiency 
D. evaluation of antymycobacterial immunity 
E. creation of active immunity 

Microbial diagnosis of tuberculosis is by 
A. X ray 
B. Mantoux test 
C. acid-fast stain 
D. pure culture 
E. both c and d 

Test for differentiating Tubercle bacilli from Atypical mycobacteria 
A. Aryl Sulphate Test 
B. NiacinTest 
C.  reduction 
D. Growth on Mac Conkey Agar 
E. Sugar utilization 

There is Lowenstein-Jensen medium. We can use it for cultivation of: 
A. Escherichia coli 
B. Salmonella typhi 
C. Vibrio cholerae 
D. Corynebacterium diphtheriae 
E. Mycobacterium tuberculosis 

The tuberculous bacilli was discovered by 
A. Robert Koch 
B. Edward Jenner 
C. Louis Pateur 
D. Jonas Salk 
E. Illya Metchnikov 

The main way of tuberculosis transmission: 
A. Air-born way 
B. Food-born 
C. Parenteral 
D. Through the bites of insecta 
E. Contact 

The prophylaxis of tuberculosis includes for itself: 
1. Early diagnosis 
1. Timely revealing of patients 
1. Prophylactic medical examination of human population 
1. Vaccination 
1. All answers are correct 

The form of leprosy associated with severe disfigurement of the face is 
4. borderline 
4. chronic 
4. lepromatous 
4. papular 
4. tuberculoid 

The local lesion in BCG is maximum in 
1. 2 days 
1. 7 days 
1. 28 days 
1. Two months 
1. One year 

Reinfection tuberculosis is almost exclusively a disease of the 
4. Lungs 
4. Bones 
4. Joints 
4. Brain 
4. Intestine 

Positive tuberculin test indicates 
1. exposure to TB 
1. sensitivity to tuberculin protein 
1. tuberculous infection 
1. fulminant tuberculosis 
1. No correct answer 

One of the following is not type III hypersensitivity reaction 
4. Tuberculin type 
4. rheumatoid arthritis 
4. SLE 
4. arthus reaction. 
4. Serum sickness 

Mycobacterium tuberculosis is pathogenic for: 
1. rabbits. 
1. guinea-pigs. 
1. both of the above. 
1. mice 
1. Rats 

Most common X-ray finding of'pulmonary TB in AIDS is 
4. Upper zone haziness 
4. Diffuse infiltrates 
4. Multiple cavities 
4. Pneumonic patch 
4. Enteric patch 

Morbidity of Mycobacterium avium complex is: 
1. Urinary tract infections 
1. Esophagitis 
1. Leprosy 
1. Scrub typhus 
e. Disseminated infection

Shigella sonnei can escape phagocytic clearance by which mechanism?
 A Capsule-mediated inhibition of phagocytosis
 B Inhibition of phagosome/lysosome fusion
 C Inhibition of opsonization mediated by protein A
 D Lysis of phagosome and replication in cytoplasm
 E Replication in fused phagosome/lysosome

A four-year-old boy was brought to the emergency room with a history of bloody diarrhea over the preceding two days. A fecal smear contained numerous red cells and neutrophils. Stool culture on Endo agar produced lactose-negative colonies amid colonies of ‘normal intestinal flora’. Which of the organisms below is most likely to be the cause of his illness?
A.        Enteropathogenic E. coli
1. Shigella.
1. Entamoeba histolytica
1. Giardia lamblia.
1. Balantidium coli.

Which of the following tests may be used to differentiate Salmonella typhi from Shigella species?
A. glucose fermentation
B. gas production from glucose
C. citrate utilization
D. motility 
E. color of colonies on Endo medium

Which of the following tests may be used to differentiate Salmonella paratyphi from Shigella species?
A. gas production from glucose 
B. gram staining
C. citrate utilization of Simmons’ citrate agar
D. shape
E. Fermentation of glucose

Which one of the following enterobacteriaceae always are causative agents of enteric diseases?
A.Shigella
B.Salmonella
C.Klebsiella
D.Citrobacter
E.only a and b

What is the incubation period for Shigella dysenteriae?
A.6 to 8 hours
B.24 to 48 hours
C. 2 to 4 days 
D. 1 to 2 weeks
E. none of the above

Outbreaks of diarrhea caused by species of Shigella are common in day-care centers for children and other similar settings. What property of Shigella most enhances its spread between children?
A. Resistance to stomach acid and low infectious dose.
B.Ability to ferment lactose and grow in refrigerated milk.
C.Possession of an envelope resistant to disinfectants.
D.Carriage by common classroom pets such as hamsters and gerbils
E.Frequent presence in the upper respiratory tracts of children who are not ill.

Which of the following bacteria is more resistant to adverse environmental conditions?
A.Shigella dysenteriae.
B. S. boydii.
C. S. sonnei.
D. S. Flexneri.
E. Salmonella typhy

Which of the following media is an enrichment medium for the isolation of Shigella?
A. Selenite broth.
B.Alkaline peptone water
C.Taurocholate peptone transport and enrichment medium
D.Endo medium
E.Tetrathionate broth.

Stain of Shigella spp. is:
A.Gram "+"
B. Gram "-"
C.Acid fast "+"
D.Hinse
E. Modified acid fast "+"

Which of the following doesn’t use for serotyping of salmonellae 
A. O antigen                                 
B. H antigen
C. K antigen    
D. Vi antigen

Salmonella  is a 
A. Gram negative  straight rod, motile by peretrichate flagella. Capsules are found in some strains. Spores are not formed
B. Gram negative straight rod, usually motile by peritrrehate flagella. Doesn’t form capsules or spores
C. Gram  negative short rod, no motile, non sporing and non capsulated.
D. Gram negative curved bacteria, motile by single polar flagellum, non sporing and non capsulated.

Which of the following serotypes of Salmonella does not produce H2S?
A.	S choleraesuis
B.	S paratyphi A
C.	Both (a) and (b)
D.	None of these

Which of the following media is selective for Salmonella?
A.	Thiosulphate citrate bile salt agar
B.	Wilson and Blair's brilliant-green bismuth sulphite agar medium
C.	Bile salt agar
D.	All of the above

Salmonellae can also be killed by
A.	pasteurisation
B.	chlorination
C.	boiling
D.	all of these

Intestines of human and other mammals are the natural habitat of enteric organisms, a large family of bacteria is present as a normal flora, which of the following is not the normal flora of intestine?
A .  Escherichia spp
B.  Salmonella spp
C. Staphylococcus spp
D.  Proteus spp

Enteric bacteria are mainly classified based on their ability to ferment various sugars including lactose. Which of the following bacteria is a non-lactose fermenter?
A. Klebsiella spp
B.  Salmonella spp
C.  Enterobacter spp
D. Citrobacter spp

Which of the following can readily kill Salmonellae?
A.	Moist heat at 55°C for 20 min
B.	Moist heat at 55°C for 10 min
C.	Moist heat at 55°C for 30 min
D.	Moist heat at 55°C for 1 hr

S. enteritidis and S. typhimurium causes enterocolitis and gastroenteritis in humans. What is the most common food for the transmission of this infection?
A.  Raw meat
B.  Eggs
C. Canned beans
D. Yogurt

Which one is not the selective culture media for salmonellae ?
a) Deoxycholate citrate agar
b) Xylose-lysine decarboxylase agar
c) Salmonella –shigella agar
d) Blood agar

Bacteriological examination of a patient  with food poisoning required inoculation of a pure culture of bacteria with the following properties: gram-negative movable bacillus that grows in the Endo's medium in form of colourless colonies. A representative of which species caused this disease?   
A	Salmonella  
B	Shigella  
C	Yersinia
D	Esherichia
E	Citrobacter

Genus Salmonella is 
a. Gramm –negative
b. Gramm - positive 
c. Neither  Gramm – positive, nor Gramm –negative

You may suggest salmonella if observe this type of colony on MacConkey agar
A. red with metallic   
B. whit with beta-hemolysis
C. dark brown with black halo 
D. pale 

Which of the following media is/are used for identification salmonellosis ?
A. Tetrathionate broth.
B. Selenite-F broth.
C. Sugar broth.
D. yolk-salt agar
E. Bile broth.

Which material do we use in case of salmonellosis?
A.	urine.
B.	faeces.  
C.	blood.    
D.	bile
E.	all are correct.

What is the most typical agent of salmonellosis?
A. milk
B. meat
C. eggs
D. bread 

What symptoms are associated with salmonellosis?
A. headache
B. Spleen enlargement
C. Nausea
D. diarrhoea 

How do salmonella locomote?
A. an eyelash
B. Flagella
C. A tail
D. they move by the blood flows

What is shape of Salmonella  ?
A. rod
B. cocci
C. coccobacilli 
D. vibrio

What is a way of  transmission of Salmonella  ?
A. sexual
B. fecal –oral
C. aerosol drop
D. parenteral

Reaction of passive hemagglutination conducted with erythrocytic typhoid Vi-diagnosticum helped to reveal some antibodies in the dilution of the patient's serum at a ratio of 1:80 that exceeds the diagnostic titer. Such result witnesses of:  
A	Reconvalescence of a patient ill with typhoid fever  
B	Being ill with acute typhoid fever  
C	Typhoid fever recurrence  
D	Incubation period of typhoid fever  
E	Being a potential carrier of typhoid bacilli  

During the repeated Widal's agglutination test it was noticed that the ratio of antibody titers and O-antigens S.typhi in the patient's serum had increased from 1:100 to 1:400. Howwould you interpret these results?   
A	The patient has typhoid fever  
B	The patient is an acute carrier of typhoid microbes   
C	The patient is a chronic carrier of typhoid microbs
D	The patient previously had typhoid fever  
E	The patient was previously vaccinated against typhoid fever  
 
Which of the following specimens is/are most appropriate for culture of bacteria in first week of enteric fever?
A.	Urine.
B.	Faeces.
C.	CSF.
D.	Bile
E.	Blood.

In Widal test, the significant titre for О agglutinins is generally:
A.	1: 50 or more.
B.	1:100 or more.
C.	1:200 or more.
D.	1:400 or more.
E.	1:800 or more

Complications of typhoid fever are:
A.	intestinal perforation
B.	liver abscesses
C.	both a and b
D.	neurological damage
E.	sepsis

Intestines of human and other mammals are the natural habitat of enteric organisms, a large family of bacteria is present as a normal flora, which of the following is not the normal flora of intestine?
A .  Escherichia spp
B.  Salmonella spp
C. Staphylococcus spp
D.  Proteus spp

Enteric bacteria are mainly classified based on their ability to ferment various sugars including lactose. Which of the following bacteria is a non-lactose fermenter?
A. Klebsiella spp
B.  Salmonella spp
C.  Enterobacter spp
D. Citrobacter spp

Salmonella typhi enter the human body through oral route penetrating into the intestine and reaching the lymphatics and the bloodstream ultimately causing the infection "Typhoid".Which of the following are most correct examples of the region of infection caused by the S. typhi?
A.  Mononuclear phagocytic cells in the liver and Peyer’s patches of the small intestine
B.  Liver, spleen, lymph nodes and large intestine
C.  Isolated follicles and Peyer’s patches of a large intestine
D. None of the above

S. enteritidis and S. typhimurium causes enterocolitis and gastroenteritis in humans. What is the most common food for the transmission of this infection?
A.  Raw meat
B.  Eggs
C. Canned beans
D. Yogurt

Which one is not the selective culture media for salmonellae and shigellae?
a) Deoxycholate citrate agar
b) Xylose-lysine decarboxylase agar
c) Salmonella –shigella agar
d) Blood agar

On bacteriological study of rinsing water of  the patient with food poisoning, the pure bacterial culture was inoculated with the following properties: gram-negative motile bacillus in the Endo environment grows like achromic colony. Representative of what  genus has caused the illness?
A	Shigella  
B	Salmonella  
C	Yersinia  
D	Escherichia  
E	Citrobacter

Bacteriological examination of a patient  with food poisoning required inoculation of a pure culture of bacteria with the following properties: gram-negative movable bacillus that grows in the Endo's medium in form of colourless colonies. A representative of which species caused this disease?   
A	Salmonella  
B	Shigella  
C	Yersinia
D	Esherichia
E	Citrobacter

Infections with Salmonella enterica, serotype typhi, spread throughout the body. A key to the ability of serotype typhi to spread systemically is its ability to multiply intracellularly. Multiplication in which cell type(s) is principally responsible for systemic spread?
A.	Basophils
B.	Monocytes/macrophages.
C.	Erythrocytes
D.	Neutrophils
E.	Enterocytes

Which of the following media is/are used for blood culture in cases of enteric fever?
A.	Tetrathionate broth.
B.	Selenite-F broth.
C.	Sugar broth.
D.	yolk-salt agar
E.	Bile broth.

In enteric fever, Salmonella may be isolated from:
A.	urine.
B.	faeces.  
C.	blood.    
D.	bile
E.	all are correct.

Infection with which organism is most likely to result in septicemia?
A.	EIEC
B.	Shigella flexnerii
C.	Salmonella enteritidis
D.	EAggEC
E.	Shigella boydi

What symptoms are associated with Salmonella typhi?
A. headache
B. Spleen enlargement
C. Nausea
D. All of the answers are correct

How do salmonella Typhi locomote?
A. an eyelash
B. Flagella
C. A tail
D. they move by the blood flows

What is shape of Salmonelle  typhi?
A. rod
B. cocci
C. coccobacilli 
D. vibrio

Salmonella typhi is the causative agent of typhoid fever. The infective dose of S. typhi is 
A. one bacillus
B. 10ᴽ  -  10ⁱ⁰ bacilli
C. 10 ²  -  10 ⁵
D. 1 – 10 bacilli
 
From the defecation of a 6-year-old  ill child, who has artificial feeding, the intestinal bacillus with antigen structure 0-111 is excreted. What is the diagnosis?
A	Cholera-like diseasis
B	Gastroenteritis
C	Coli-enteritis 
D	Food poisoning 
E	Disentery-like diseasis

A five-day-old child develops high fever and stiff neck. A spinal tap is performed. A Gram-stained smear of cerebrospinal fluid reveals many neutrophils and short, thick, Gram-negative rods of uniform length. This microbes can ferment lactose.Which organism below is most likely to have caused this infection?
A.	Haemophilusinfluenzae
B.	Escherichia coli 
C.	Neisseria meningitidis
D.	Streptococcus agalactiae
E.	Streptococcus pneumonia

Dysentery like disease may be caused by
A.	enteropathogenic Escherichia colt.
B.	enteroinvasive E. coli 
C.	verotoxigenic E. coli.
D.	enteroaggregative E. coli.
E.	 enterotoxigenic E. coli.
 
A common serotype of enterohemorrhagic E. coli is O157:H7.What is O157?
A.	Pili.
B.	Capsule.
C.	LPS 
D.	Porins.
E.	Flagella.

It is necessary to check the peptolytic properties of enterobacteria. What nutrient medium will you recommend?
A.	Meat-peptone broth 
B.	Endo’s medium
C.	Ru’s medium
D.	1 % alkaline peptone water

The fimbriae of enterotoxigenic E. coli are essential to the bacterium when it causes disease because
A.	they activate host adenylatecyclase enzymes leading to disruption of cellular permeability
B.	they make the bacteria resistant to phagocytic killing and digestion by white blood cells
C.	they convert GI tract components (bile) to substances which provoke
D.	they are needed for initial attachment of the bacteria to the gastrointestinal epithelium
E.	they allow the bacteria to swim "upstream" against the peristaltic action of the GI tract thereby remaining established in the GI tract

Traveller'sdiarrhoea is caused by:
A.	enteropathogenic Escherichia coli.
B.	enteroinvasive E. coli.
C.	enterohaemorrhagic E. coli.
D.	enteroaggregative E. coli.
E.	enterotoxigenic E. coli.

For Escherichia coli, which antigens are most potent?
A.	capsular (K)
B.	flagellar(H)
C.	Vi-Ag
D.	all of these
E.	somatic(O)

A vacationer develops watery diarrhea but not chills or fever. In this setting which of the following pathogens is the most common?
 A.	Salmonella enterica 
 B.      Escherichia coli  
 C.       Staphylococcus aureus  
 D.	Campylobacter jejuni

Haemolyticuraemic syndrome is caused by:
A.	enteropathogenic Escherichia coli.
B.	enterotoxigenic E. coli.
C.	enteroinvasive
D.	enterohaemorrhagic E. coli.
E.	enteroaggregative E. coli.

A sexually-active woman develops a urinary tract infection which ascends to the kidneys. Blood culture yields a beta-hemolytic Gram-negative rod. In this situation, which pathogen is most common?
A.	Klebsiellapneumoniae.
B.	Pseudomonas aeruginosa.
C.	Salmonella enteritidis.
D.	Serratiamarcescens.
E.	Escherichia coli.

A lactose-fermenting Gram-negative rod is isolated from the bloody stool of a young child. Which pathogen is most likely?
A.	Salmonella enterica.
B.	Escherichia coli.
C.	Vibrio cholerae.
D.	Shigella dysenteriae.
E.	Clostridium difficile.

Each of the following statements concerning gram-negative rods is correct EXCEPT:
A.	Escherichia coli is part of the normal flora of the colon; therefore, it does not cause diarrhea
B.	E. coli ferments lactose, whereas the enteric pathogens Shigella and Salmonella do not
C.	Klebsiellapneumoniae, although a cause of pneumonia, is part of the normal flora of the colon
D.	Proteus species are highly motile organisms that are found in the human colon and cause urinary tract infections
E.	Escherichia coli enterotoxin mediates ADP-ribosylation of a G protein

Which of the following property(ies), shown by the organisms belong(s) to the family Enterobacteriaceae?
A.	They are catalase-positive
B.	They are oxidase-negative
C.	They ferment glucose
D.	All of these

Which of the following(s) bacteria belong to the family Enterobacteriaceae?
  A.	Yersinia     
  B.	Shigella       
  C.	Salmonella     
  D.	All of these 

Which organism would be considered an opportunistic pathogen?
 (A) Escherichia coli 
 (B) Francisella tularensis 
 (C) Mycobacterium tuberculosis 
 (D) Neisseria gonorrhoeae
 (E) Salmonella typhi

What is selective media for Enterobacteriaceae 
A.Thyer –Martin agar
B.Endo
C. Egg yolk salt agar
D. Chocolate agar
E. blood agar

The most common cause of urinary tract infection in the community is
A.	Klebsiella pneumoniae
B.	Proteus vulgaris
C.	Escherichia coli
D.	Citrobacter freundii

Which of these bacteria are glucose positive.
A. Escherichia
B. Yersinia
C. Salmonella
D. Shigella

Outer membrane lipopolysaccharide is  
A. O-Ag
B. K – Ag.
C. H -Ag
D. Vi –Ag

The young man was injuring in car accident. The affected area of the leg is painful, red, and swollen. During the next 12 hours the swelling increases markedly, the skin of the leg becomes discolored, and fluid-filled blisters appear on the skin. Gram stain of fluid aspirated from a blister reveals large Gram-positive rods. Which organism below is most likely to have caused this infection?
0. Clostridium botulinum
0. Clostridium difficile.
0. Clostridium tetani.
0. Clostridium perfringens.
0. Listeria monocytogenes

A patient is diagnosed with Clostridium difficile colitis. Which item would represent a known risk factor for such infections?
1. Consumed unpurified water.
1. Visited the southwestern United States.
1. Been treated with antibiotics.
1. Eaten undercooked fried rice.
1. Been in contact with livestock

Five days ago a 65-year-old woman with a lower urinary tract infection began taking ampicillin. She now has a fever and severe diarrhea. Of the organisms listed, which one is MOST likely to be the cause of the diarrhea?
4. Clostridium difficile
4. Bacteroides fragilis
4. Proteus mirabilis
4. Bordetella pertussis
4.      Vibrio cholerae

Typical drumstick appearance of bacilli is observed in:
1. Clostridium perfringens.
1. C. diphtheriae
1. C. histolyticum.
1. C. difficilae
1. С. Tetani

 “Medusa head” appearance of the colonies is characteristic of:
4. Proteus mirabilis.
4. Clostridium tetani.
4. Pseudomonas aeruginosa.
4. Clostridium botulini
4.      Bacillus anthracis

A patient has rapidly spreading soft-tissue infection with gas in infected tissue. Fluid from a blister contains many large Gram-positive rods which grow on sheep blood agar anaerobically but not aerobically. Which pathogen is most consistent with these findings?
0. Bacillus anthracis.
0. Bacillus cereus.
0. Clostridium difficile.
0. Listeria monocytogenes.
0. Clostridium perfringens.

A 50-year-old woman was treated for cystitis [caused by E. coli] with an oral broad-spectrum antibiotic. Three weeks later she developed abdominal pain and diarrhea. A stained smear of stool contained many neutrophils. Cultures for bacterial pathogens were negative. A serological test of stool for Clostridium difficile toxin was positive. Which of the following is most likely to have been the immediately predisposing cause of this patient’s C. difficile infection?
1. Colonization of her large intestine by antibiotic-resistant E. coli.
1. An allergic response to her antibiotic treatment.Acquisition of an antibiotic-resistance plasmid (R-Factor) by C. difficile.
1. Acquisition of an antibiotic-resistance plasmid (R-Factor) by C. difficile.
1. Alteration of her intestinal flora by antibiotic treatment.
1. none of the above

Each of the following statements concerning Clostridia is correct EXCEPT:
4. Pathogenic Clostridia are found both in the soil and in the normal flora of the colon
4. Antibiotic-associated (pseudomembranous) colitis is due to a toxin produced by Clostridium difficile
4. Botulism, which is caused by ingesting preformed toxin, can be prevented by boiling food prior to eating
4. Clostridia are spore-forming bacteria
4. Anaerobic conditions at the wound site are not required to cause tetanus, because spores will form in the presence of oxygen

Both the botulinum toxin and the tetanus toxin are 
A.	superantigens
B.	enterotoxins
C.        protease enzymes 
D.	adenylate cyclase enzymes 
E.	none of the above

Which of the following exotoxins resembles strychnine in its effect?
A.	Botulinum toxin.
B.	Diphtheria toxin.
C.	Tetanus toxin.
D.     None of the above.
E.	All of the above.

Group of Clostridium botulinum is:
A. Bacteria
B. Protozoa
C. Fungi
D. Helminths
E. Viruses

Clostridium tetani is сausative agent of:
1. Cholera gravis
1. Pelvic inflammatory disease
1. Wound infection
1. Parotitis
1. Tetanus

What is the cause of food toxic poisoning?
4. Salmonella enteriditis
4. Escherichia coli
4. Clostridium botulinum 
4. Clostridium tetani
4.  Campylobacter jejuni

Tetanus is very dangerous disease because Clostridium tetani produces exotoxin-tetanospasmin. How does this toxin act?
1. Stimulates adenyl cyclase.
1. Inhibits guanyl cyclase
1. Cleaves ribosomal RNA.
1. Blocks synaptic transmission..
1. Stimulates production of cytokines

Find the correct sentence according to Clostridium botulinum
1. Botulism symptoms include descending paralysis, dry mouth, constipation, and urinary retention 
1. Group is determined base on polysaccharide C; type - based on M-protein; strain - based on T antigen.
1. Exposure to antibiotics - major risk factor.
1. Produce endotoxin and coagulase.
1.  Includes S. typhimurium, S. dublin, S. enteritidis, S. hadar - enteritis; S. typhi, S. paratyphi - enteric fever, possible intracellular infection.

The clostridial invasin that dissolves the framework of muscle is
4. botulinum toxin
4. tetanus toxin 
4. hyaluronic acid 
4. collagenase
4. neuraminidase

Which one of the following statements concerning immunization against diseases caused by Clostridia is CORRECT?
1. Antitoxin against tetanus protects against botulism as well, because the two toxins share antigenic sites
1. Vaccines containing alpha toxin (lecithinase) are effective in protecting against gas gangrene
1. The toxoid vaccine against Clostridium difficile infection should be administered to immunocompromised patients
1. Immunization with tetanus toxoid induces effective protection against tetanus toxin 
1.  Attenuated vaccines are used for specific prophylaxis of infections, caused by Clostridia

Each of the following statements concerning Clostridium tetani is correct EXCEPT:
4. It is a facultative organism; it will grow on a blood agar plate in the presence of room air 
4. Pathogenesis is due to the production of an exotoxin that blocks inhibitory neurotransmitters
4. Its natural habitat is primarily the soil
4. It is motile rod
4.  It is a gram-positive, spore-forming rod

Each of the following statements concerning wound infections caused by Clostridium perfringens is correct EXCEPT:
1. An exotoxin plays a role in pathogenesis
1. Gram-positive rods are found in the exudate
1. Anaerobic culture of the wound site should be ordered
1. The organism has capsule
1. The organism grows only in human cell culture

A patient has rapidly spreading soft-tissue infection with gas in infected tissue. Fluid from a blister contains many large Gram-positive rods which grow on sheep blood agar anaerobically but not aerobically. Which pathogen is most consistent with these findings?
4. Bacillus anthracis.
4. Bacillus cereus.
4. Clostridium difficile.
4. Listeria monocytogenes.
4. Clostridium perfringens.

A patient with systemic febrile illness is found to have an infection with Brucella abortus. Which item in his history represents a known risk factor for such infections?
0. Recently visited Grand Canyon National Park.
0. Keeps numerous pet reptiles including two pythons and an alligator.
0. Has two young children who attend day care.
0. Has an acquarium at home, with numerous tropical fish.
0. Works as a butcher for a supermarket chain.

Which of the following Brucella spp. is most pathogenic for man?
1. B. abortus
1. B. Melitensis
1. B. suis.
1. B. canis.
1. B. Ovis

Brucella abortussis, a cause of undulant fever, is transmitted in all but which of the following ways?
0. Direct contact with infected animals
0. Exposure to animal carcass
0. Drinking unpasteurized milk
0. Exposure to animal feces
0. none of the above

In a patient with systemic febrile illness, which item in the history would indicate the highest risk for Brucella infection?
4. Recent travel to China.
4. Contact with livestock or animal products.
4. Chronic cardiopulmonary disease.
4. Age less than two years.
4. Drinking unpurified water from a river or stream.

Human brucellosis is also known as
1. Fran's disease
1. Query fever
1. undulant fever
1. rabbit fever
1. relapsing fever

In October a young man comes to your office with two ulcers on his right hand. His history includes the fact that he is an avid hunter, and has been rabbit hunting in southern New Jersey every weekend for the last several months. Which organism should his hobby cause you to add to the list of possible causes of his illness?
4. Yersinia pestis.
4. Coxiella burnetii.
4. Listeria monocytogenes.
4. A member of the genus Brucella.
4. Francisella tularensis.

A 13-year old boy develops pain and marked (10 cm.) swelling in his right inguinal lymph node accompanied by fever of 104oF. He and his family have just returned from a vacation trip to Arizona and New Mexico. Aspirate from the node contains Gram-negative rods. A direct immunofluorescent assay on the aspirate provides a definitive diagnosis. The child is (successfully) treated with streptomycin, and the aspirate is sent for culture to the CDC. Culture yields pale colonies on MacConkey agar. What is the most probable pathogen?
1. Yersinia pestis.
1. Helicobacteri pylori.
1. Franciscella tularensis
1. Coxiella burnetii
1. Klebsiella pneumoniae

Bipolar staining is characteristic of:
4. Proteus mirabilis.
4. Pseudomonas aeruginosa.
4. Vibrio cholerae
4. Bacillus anthracis
4. Yersinia pestis.

Which  of these bacteria is\are anaerobic?
0. Bacillus anthracis
0. Francisella tularensis 
0. Yersinia pestis
0. Brucella abortus
0. All of the above

Which  of these bacteria is\are Gram –positive?
A. Bacillus anthracis
B. Francisella tularensis 
C. Yersinia pestis
D. Brucella abortus
E. All of the above

If you suspect Francisella infection, you should inform the lab when sending a specimen. What is the predominant reason you need to do this?
A. Francisella requires culture in living human cells.
B. Francisella requires culture in living protozoa, such as amoebae.
C. Francisella although biologically Gram-negative, stains Gram-positive unless special technique is used.
D. Francisella cannot be cultured on ‘standard media’.
E. Francisella is readily transmitted to laboratory workers when cultured.


A patient has a skin ulcer you suspect is caused by Bacillus anthracis. If your hypothesis is true, which of the following would you expect to see in a Gram-stained smear of exudate from the wound?
1. Slender spirochetes.
1. Large Gram-positive rods.
1. mall Gram-positive cocci, in pairs.
1. Gram-negative rods of variable length.
1. Gram-negative coccobacilli.

Antibiotic treatment is absolutely necessary in cutaneous anthrax, to:
4. Prevent progression from vesicle to eschar.
4. Limit the amount of edema surrounding the eschar.
4. Enable the quick healing of skin lesions.
4. Prevent progression to systemic illness.
4. Assure that no permanent scar is formed.

 “Medusa head” appearance of the colonies is characteristic of:
1. Proteus mirabilis.
1.  Bacillus anthracis.
1. Clostridium tetani.
1. Pseudomonas aeruginosa.
1. Clostridium botulini

When Bacillus anthracis is cultured, the isolate is expected to have all of the following characteristics EXCEPT:
4. Formation of large colonies, which retain their shape when manipulated.
4. Absence of hemolysis on sheep blood agar.
4. Lack of motility in soft-agar testing media.
4. Blue/purple color after Gram-staining.
4. Inability to form spores.

Yersinia pestis causes both the bubonic plague and the more deadly pneumonic plague. How is pneumonic plague transmitted?
1. Air-borne
1. The bite of a flea
1. Via rodents
1. Exchange of bodily fluids
1. The bite of lice

Common reservoir host/s of Brucella melitensis is/are:
4. cattle.
4. pigs.
4. dogs
4. sheep and goats.
4. all of the above.

Which one of the following statements concerning the organisms that cause brucellosis is CORRECT?
1. Brucellae are found in reticuloendothelial cells and often cause granulomatous lesions
1. Brucellae are transmitted primarily by tick bite
1. The principal reservoirs of brucellae are small rodents
1. Brucellae are obligate intracellular parasites that are usually identified by growth in human cell culture
1. Brucellae are obligate intracellular parasites that are usually identified by growth in human cell culture

Francisella tularensis has no which portal of entry?
4. tick bite
4. intestinal
4. respiratory
4. sexual 
4. only c and d

Ways of transmition of Brucellae to humans are:
0. direct contact with animal tissues.
0. ingestion of contaminated meat.
0. ingestion of raw infected milk.
0. direct contact with animal placenta
0. all answers are correct.

In August, a young man presents with a history of fever for 1 week and a red rash which extends to the palms and soles. IgM titer to Rickettsia rickettsii is 1:640. From which vector was this infection most likely to have been acquired?
0. Mosquito of the genus Anopheles.
0. Blood-sucking sandfly.
0. Dog tick 
0. Human body louse.
0. Flea.


Rickettsias and chlamydias are similar in being
1. carried by arthropod vectors
1. free of a cell wall
1. produce exotoxin
1. obligate intracellular bacteria
1. the cause of eye infections

Human body louse is responsible for transmission of which of the following diseases?
0. Epidemic typhus
0. Murine typhus
0. Rickettsialpox.
0. Q fever.
0.       Typhi fever

Each of the following statements concerning epidemic typhus is correct EXCEPT: 
A.       The disease is characterized by a rash 
B.       The Weil-Felix test can aid in diagnosis of the disease 
1. The disease is caused by a rickettsia 
1. The causative organism is transmitted from rodents to humans by a tick 
1. All of the above 

Chlamydia pneumoniae is the etiological agent of: 
3. Inclusion conjunctivitis 
3. Lymphogranuloma venereum 
3. Hyperendemic, blinding trachoma 
3. All answeres are corrected 
3. All answeres are incorrected 

Chlamydia can be recognized by the following laboratory procedures EXCEPT: 
1. Microscopic examination of Giemsa-stained scrapings from infected tissues 
1. Culture in tissue culture cells sensitive to Chlamydia. 
1. Culture on agar medium. 
1. Polymerase chain reaction. 
1. ELISA. 

Chlamydia pneumoniae is:
4. ssDNA
4. Obligate intracellular parasite
4. It grows onto nutrient media
4. Coagulase "+"
4. Acid fast "+

A patient with urethritis is treated with tetracycline. A direct fluorescent antibody test of a smear of exudate is equivocal. Titer of Complement-fixing (CF) antibody to Chlamydia trachomatis, in a serum sample taken on the day on which treatment was initiated, is 1:32. A second CF titer, taken two weeks later, is 1:640. Which conclusion below best follows from the antibody titers?
1. The patient is not infected with C. trachomatis.
1. Although the patient’s condition may appear to be improving, in fact his infection is getting worse.
1. The patient has made a Type I hypersensitivity response to C. trachomatis antigens.
1. The patient’s C. trachomatis isolate was resistant to tetracyclines
1. The patient’s urethritis was caused by C. trachomatis.

Each of the following statements concerning pneumonia caused by Mycoplasma pneumoniae is correct EXCEPT:
4. The organism cannot be cultured in vitro because it has no cell wall
4. The disease is associated with a rise in the titer of cold agglutinins
4. The disease occurs primarily in immunocompetent individuals
4. The disease is one of the "atypical" pneumonias
4. Penicicllin is uneffective agains Mycoplasma

Each of the following statements concerning Q fever is correct EXCEPT:
1. Rash is a prominent feature
1. It is transmitted by respiratory aerosol
1. Farm animals are an important reservoir
1. It is intracellular parazite
1. It is caused by Coxiella burnetii

General characteristics of Rickettsia include which of the following? 
A. A life cycle involving extracellular replication but cyst formation within eukaryotic cells 
B. rapid (24-48 hours) culture from clinical specimens on routine sheep blood agar 
C. single gram positive cocci surrounded by a capsule visualized in tissue specimens 
D. entry into cells by endocytosis with replication in the cytoplasm or in vacuoles in eukaryotic cells 
E. All answeres are corrected 

Morbidity of Rickettsia tsutsugamushi is:
1. Toxic shock syndrome
1. Reiter's syndrome
1. Nasopharyngeal carcinoma
1. Pneumonia
1. Scrub typhus

Which one of the following types of organisms is NOT an obligate intracellular parasite and there fore can replicate on bacteriologic media?
4. Chlamydia
4. Mycoplasma
4. Rickettsia
4. Adenovirus
4.      HIV

The cell tropism of the genus Rickettsia determines the type of disease produced. Which phrase best describes Rickettsial disease?
1. Vasculitis.
1. Encephalitis
1. Meningitis.
1. Myocarditis
1. Myositis.

Mycoplasmas demage next structure of host cells.
4. nucleus
4. cell walls
4. cell membranes
4. ribosomes
4. mitochondria

Sterols are present in the cytoplasmic membrane of:
1. Mycoplasma.
1. Clostridium.
1. Proteus.
1.     Rickettsia
1.  Bacillus.

Which antibiotic below should you expect to be most effective for therapy Mycoplasma pneumoniae respiratory infection?
4. Penicillin G.
4. Vancomycin.
4. Erythromycin.
4. A third-generation cephalosporin.
4. An ‘extended-spectrum’ penicillin.

Which of the following is/are an arthropod vector of rickettsioses?
1. flea
1. louse
1. tick
1. mosquito
1. all of the above

Chlamydia trachomatis can attacks which structure(s)? 
4.  eye 
4. urethra 
4. fallopian tubes 
4. lungs 
4. all of these 

Chlamydia pneumoniae is the etiological agent of: 
A. Inclusion conjunctivitis 
B. Lymphogranuloma venereum 
C. Hyperendemic, blinding trachoma 
D. All answeres are corrected 
E. All answeres are incorrected 

The preliminary diagnosis is put patient A. Leptospirosis. Is sick 2 weeks. What tests from given it is necessary to use for acknowledgement of the diagnosis:
A. Revealing specific antibodies
B. Revealing originators by a microscopy
C. Biologichal assay on rabbits
D. Abjection of a hemoculture
E. Abjection urinoculture

Which of the following techniques is/are suitable for motility demonstration of Treponema pallidum in exudates? 
A. Dark-ground microscopy. 
B. Directrect fluorescent-antibody staining for Treponema pallidum. 
C. Light microscope 
D. There is no any technique 
E. all anwers are correct 

Which of the following tests can be performed for the serodiagnosis of leptospirosis? 
A. Macroscopic agglutination test. 
B. Microscopic agglutination test. 
C. Complement fixation test. 
D. all anwers are correct 
E. all anwers are incorrect 

Which of the following tests can be performed for the serodiagnosis of leptospirosis?
A. Macroscopic agglutination test.
B. Microscopic agglutination test.
C. Complement fixation test.
D. all anwers are correct
E. all anwers are incorrect

How is leptospirosis, caused by Leptospira interrogans, transmitted?
0. Tick bite
0. Undercooked meat
0. Inhaled aerosol
0. louse feces
0. Contaminated urine in food or water

Formation of a gumma is 
A. a damaged aorta 
B. a damaged liver 
C. a syphilitic tumor 
D. the primary lesion of syphilis 
E. the result of congenital syphilis 

 Each of the following statements concerning Treponema is correct EXCEPT: 
A. T. pallidum produces an exotoxin that stimulates adenylate cyclase 
B. T. pallidum cannot be grown on conventional laboratory media 
C. Treponemes are members of the normal flora of the human oropharynx 
D. Patients infected with T. pallidum produce antibodies that react with beef heart cardiolipin 
E. All of the above 
Which test you can use for detect in patient latent Syphilis?
A. Physical exam to detect characteristic neurological symptoms.
B. Dark field microscopy of CSF.
C. Gram stain of material from a skin lesion.
D. Culture of the organism from blood and CSF.
E. Tests for ‘non-treponemal’ and ‘anti-treponemal’ antibodies in serum.

Which of the following staining techniques cannot be used for T. pallidum?
A. Gram staining.
B. Giemsa staining.
C. Silver impregnation staining.
D. Immunofluorescence staining.
E. all anwers are correct

Morphology of Treponema pallidum is:
A. Mold
B. Vibrio
C. Rod
D. Yeast
E. Spiral-shaped

Erythema chronicum migrans is observed in: 
A. Lyme disease. 
B. relapsing fever. 
C. Weil's disease. 
D. syphilis. 
E. pinta 

Which of the treponematoses are not veneral disease? 
A. bejel 
B. pinta 
C. yaws 
D. syphilis 
E. Three first 

 Indicate disease caused by Leptospira interrogans: 
A. Weil syndrome (icterohemorrhagic fever)
B. Endemic relapsing fever 
C. Lyme disease 
D. Syphilis 
E. Enteric fever 

Manifestations of tertiary (late) syphilis can include all of the following EXCEPT: 
A. aortic aneurism. 
B. multiple skin lesions containing numerous organisms. 
C. infection of the brain. 
D. formation of granulomatous lesions anywhere in the body. 
E. loss of sensory and motor function in the lower extremities. 

Lyme disease is caused by ______ and spread by ______. 
A. Borrelia recurrentis, lice 
B. Borrelia burgdorferi, ticks 
C. Borrelia burgdorferi, chiggers 
D. Borrelia hermsii, ticks 
E. Borrelia recurrentis, ticks 

Louse-borne relapsing fever is caused by: 
A. Borrelia recurrentis. 
B. duttoni. 
C. burgdorferi. 
D. B. parkeri. 
E. Treponema carateum

Indicate micribe which has sexual mode of transmission: 
A. Treponema pallidum 
B. Borrelia recurrentis 
C. Borrelia burgdorferi 
D. Leptospiras interrogans 
E. Treponema vincentii 

Indicate micribe which uses rodents, dogs, fish, birds for mode of transmission: 
A. Treponema pallidum 
B. Borrelia recurrentis 
C. Borrelia burgdorferi 
D. Leptospiras interrogans 
E. Treponema vincentii 

Indicate micribe which uses human-to-human for mode of transmission: 
A. Treponema pallidum 
B. Borrelia recurrentis 
C. Borrelia burgdorferi 
D. Leptospiras interrogans 
E. Treponema vincentii

In the pathogenesis of Helicobacter pylori what is the colonization site in the host?
0. nasal sinuses
0. stomach
0. lower intestine
0. throat
0. respiratory tract

 A patient complains of abdominal pain and you suspect gastritis caused by Helicobacter pylori. Of the tests below, which would it be best to order, to confirm your diagnosis?
A. Sputum culture.
B. Blood culture on special selective medium.
C. Measurement of urea concentration in exhaled breath.
D. Measurement of urea concentration in a stool sample.
E. Conversion of 14C-labeled urea to carbon dioxide.

A patient has chronic gastritis. Which of the following organisms is most likely?
A. Campylobacter fetus.
B. Campylobacter jejuni.
C. Escherichia coli.
D. A non-cholera Vibrio.
E. Helicobacter pylori.

A patient has a peptic ulcer. Which organism is most likely to have created this lesion?
A. Campylobacter jejuni.
B. Enterococcus faecalis.
C. Escherichia coli.
D. Salmonella enteritidis.
E. Helicobacter pylori

To test a stool specimen for Campylobacter, all of the following measures would be used except:
A. Passing the samples through 0.45 micron filters
B. Plating on agar containing glucose or sucrose
C. Plating on Campy blood agar containing 5 antibiotics
D. Incubating the plates in an atmosphere of 5% O2, 10% CO2
E. Incubating the plates at 42° C

 Which phrase best describes typical infections by Campylobacter jejuni? 
A. Non-inflammatory enteritis 
B. Inflammatory enteritis 
C. Systemic infection 
D. Urinary tract infection 
E. Meningitis 

 Only recently have Campylobacter and Helicobacter been identified as the causative agents for certain infections. This is because the clinical laboratories now routinely test for organisms with the following characteristic: 
A. inability to ferment carbohydrates 
B. single polar flagellum 
C. microaerophilic nature 
D. small size 
E. oxydase-positive 

Helicobacter pylori, a cause of peptic ulcers and gastric carcinoma, is diagnosed by which of the following methods?
A. Serology (serum) test
B. Biopsy (invasive)
C. Radioactive isotope C14 test
D. none of the above
E. All of the above

 This bacterium, although usually not considered as normal flora, frequently colonizes the stomach and is thought to be the cause of gastric and duodenal ulcers. 
0. Lactobacillus acidophilus 
0. Pseudomonas aeruginosa 
0. Escherichia coli 
0. Vibrio cholerae 
0. Helicobacter pylori 

Which of the following organisms is transmitted directly by human to human contact? 
A. Borrelia hermsii 
B. Treponema pallidum subspecies pallidum 
C. Leptospira interrogans 
D. Spirillum minor 
E. Borrelia burgdorferi 

A urease-positive, spiral-shaped gram-negative rod is found in gastric washings from a 29-year-old stressed-out medical student with gastritis. Which of the following is most likely tobe this organism?
A. Campylobacter jejuni
B. Helicobacter pylori
C. Proteus mirabilis
D. Providencia rettgeri
E. Vibrio cholerae


The pathogenic mechanisms that make Helicobacter pylori the causative agent of gastritis include the following except: 
A. invasive abilities 
B. urease production 
C. catalase production 
D. microaerophilism 
E. motility 

Helicobacter pylori is:
A. Vibrio
B. Mold
C. Rod
D. Yeast
E. Spiral-shaped

What is the most common outcome of infection with Helicobacter pylori?
A. Peptic ulcers or gastric cancer
B. Severe diarrhea
C. No clinical manifestations
D. Bacteremia
E. Hepatitis

 Campylobacter jejuni gastroenteritis is associated with consumption of contaminated water or foods which include the following EXCEPT:
A. milk
B. chicken
C. clams
D. hamburger
E. poultry 

 Which phrase best describes typical infections by Campylobacter jejuni?
A. Non-inflammatory enteritis
B. Systemic infection
C. Urinary tract infection
D. Meningitis
E. Inflammatory enteritis

Only recently have Campylobacter and Helicobacter been identified as the causative agents for certain infections. This is because the clinical laboratories now routinely test for organisms with the following characteristic: 
A. inability to ferment carbohydrates 
B. single polar flagellum 
C. microaerophilic nature 
D. small size 
E. oxydase-positive 

A man suffers many month from gastritis caused by Helicobacter pylori. Of the tests below, which would it be best to order, to confirm your diagnosis?
A. Blood culture on special selective medium.
B. Sputum culture.
C. Measurement of urea concentration in exhaled breath.
D. Measurement of urea concentration in a stool sample.
E. Conversion of 14C-labeled urea to carbon dioxide.

 Gastroscopy reveals that a patient with stomach pain has a large ulceration of his gastric mucosa. During the procedure a biopsy of the stomach epithelium is obtained. Which observation would suggest Helicobacter pylori as the cause of illness?
A. Biopsy shows infiltration of gastric epithelium by lymphocytes.
B. pH of stomach fluid is equal to 1 (normal), rather than decreased.
C. Ingested isotope-labeled nitrate is converted to nitrite in the stomach.
D. Bacteria are found in stomach fluid, but not in contact with the gastric epithelium
E. Curved or spiral bacteria are seen in the biopsy after silver staining.

This bacterium, although usually not considered as normal flora, frequently colonizes the stomach and is thought to be the cause of gastric and duodenal ulcers. 
A. Lactobacillus acidophilus 
B. Pseudomonas aeruginosa 
C. Escherichia coli 
D. Vibrio cholerae 
E. Helicobacter pylori

Which microorganism selected as exemplary for sanitary drinking water?
A. Escherichia coli
B. Pneumococcus
C. Micrococcus D. The causative agent of syphilis
E. Salmonella

To assess the quality of water used in the pharmacy carried bacteriological research. Which indicator shows the number of bacteria of Escherichia coli in 1 liter of water?
A. Coli index
B. Microbial numbers
C. Perfringens -titer
D. Titer of enterococci
E. Titre of coli –phage

Bacteriological study of water from the city water supply was obtained following results: if the index 23, the microbial number 160. Does these water regulatory indicators?
A. Responsible for the coli -index, but is not responsible for the microbial count.
B. Responsible for both parameters
C. Not responsible for coli - index, but is responsible for
the microbial count
D. Not responsible for both indicators 

When planned bacteriological examination of air pharmacies were identified: B. cereus, M. luteus, yeasts, hemolytic streptococci. Which of these organisms is indicative of sanitation?
A. Haemolytic streptococci
B. B. cereus
C. M. luteus
D. Yeasts
E. All of the above

The presence of E. coli in water is an indicator of faecal contamination. What is considered to be coli -titre?
A. Number of E. coli in 1 ml of water
B. Number of E. coli in 1 liter of water
C. The total number of bacteria in 1 liter of water 
D. The total number of bacteria in 1 ml of water
E. The least amount of water, which revealed the presence of E. coli 

For control of premises’ sanitation, where the finished dosage forms, was examine of air. Which of the identified bacteria indicates poor sanitary condition?
A.Hemolytic streptococci
B. Mold fungi
C. Sarcina
D. Gram-positive bacilli
E. Micrococci

In the study of crops air from the pharmacy, bacteriologist, discovered sanitary demonstration microorganism. What is a microorganism?
A. Non -hemolitic streptococcus
B. Bacillus subtilis
C. Escherichia coli
D.  Staphylococcus aureus 
E. Corynebacterium diphtheria

The presence of pathogenic microorganisms in the air may be provided by the presence of sanitary representative bacteria. Choose among these bacteria, which are a direct indicator of the epidemiological risk.
A. Hemolytic streptococci
B. Sarcina
C. Mold fungi
D. Yeasts
E. Micrococci

For sanitary and biological research chemist’s air it was discovered by the sanitary -indicative microorganisms. Name this microorganism.
A.Escherichia coli
B. Staphylococcus aureus 
C.Enterococcus faecalis
D.Streptococcus viridans
E.Citrobacter

For air sampling in a pharmacy, a bacteriologist used Krotov apparatus. What is the method of study of air?
A. Membrane filters
B. Aspiration 
C. Termopre
cipitation
D. Sedimentation
E. Vacuum 

What should be the number of microbial drinking water allowable for the Ukrainian state standards for drinking water?
A.  100 
B. 1000
C. 10000
D. 100000
E. 1000000

To characterize the bacterial contamination of the soil with the human or animal, determine the sanitary –indicative microorganisms. Which microorganism indicates long -standing fecal contamination of the soil?
A. Escherichia coli
B. Clostridium perfringens 
C. Streptococcus faecalis
D. Salmonella enteritidis
E. Pseudomonas aeruginosa

Quite often, the soil may be the seat of a number of pathogenic microorganisms. Pathogens what diseases can be a long time to exist in the soil?
A..Pathogens of viral hepatitis
B. Pathogens of diphtheria
C.  Pathogens of anthrax 
D. Pathogens of pertussis
E. Pathogens of dysenter

The surface waters are susceptible to contamination with microorganisms from 
a) the air
b) the surface runoff
c) precipitation
d) atmospheric water and the surface runoff

Thermus aquaticus, a common bacterial inhabitant generally prevails in temperatures of ____________
A.  0 C
B. 30-40C
C. 70-72C
D.  80-85C

Which of the following compounds are required for the growth of saprophytic bacteria and fungi?
A. organic compounds
B. nitrates
C. phosphates
D.  mercury

The reason(s) to sample and analyze a household's water is/are to:
A.     Determine the kind of water treatment
B.      Size the necessary treatment equipment
C.      Meet local requirements and laws
D.      Assess the cause of water problems
E.      All of the above

Coliform bacteria:
A.      Grow in the intestines of people and warm blooded animals
B.      Usually cause diseases
C.      Respond to water treatment differently than do most other pathogens
D.      Exist only in water that contains pathogens
E.      All of the above

Following are types of microorganisms that can be pathogenic (disease producing) in drinking water:
A.     Bacteria
B.      Protozoa
C.      Viruses
D.      a and c
E.      All of the above

After the sanitary and bacteriological study of tap water the following results were obtained: the total number of bacteria in 1.0 ml was 80, coli index was 3. How would you interpret the study results?
A.Water is safe to be consumed
B.Water is of doubtful quality
C.Water is of highly doubtful quality
D.Water is contaminated
E.Water is highly contaminated

Post surgery, Mr Howard had an indwelling urinary catheter and three days later he developed a fever, rigors and pain. A microbiological examination of a well-collected urine specimen revealed a bacterial infection due to Gram positive cocci. This microorganism was highly resistant to standard antibiotics, including vancomycin. This infection was caused by the microorganism:
A. VRE - vancomycin resistant Enterococcus.
B. VISA- vancomycin intermediate Staphylococcus aureus.
C. Pseudomonas aeruginosa.
D. MRSA - Methicillin resistant Staphylococcus aureus.
E. MDR-TB - multi drug resistant Mycobacterium tuberculosis. 

Which of the following opportunistic organisms causes diarrhoea after prolonged exposure to antibiotic treatment?
A. Candida albicans
B. Streptococcus pyogenes
C. Escherichia coli
D. Clostridium difficile
E. vancomycin - resistant Enterococci

Which of the following patients would be most at risk of infection?
A. A patient with a surgical wound.
B. A patient with severe and extensive burns.
C. A patient with hepatitis B.
D. A patient who will be in hospital for a long time.
E. A cardiac patient. 

Which of the following infections would not be classed as iatrogenic?
A. Urinary tract infection following catheterisation.
B. Upper respiratory tract infection by an adenovirus.
C. Septicaemia after insertion of IV cannula.
D. Bacterial abscess following epidural anaesthetic.
E. Pneumonia following tracheostomy.

Which of the following treatments would lower a person's resistance to infection?
A. Cytotoxic drugs
B. Radiotherapy
C. Immunosuppressive drugs
D. Corticosteroids
E. All of the above.

What is the most important practice to adhere to when assessing patients in Accident and Emergency?
A. always wear a mask
B. wash hands before and after touching a patient
C. wear protective gowns
D. treat all patients as infectious
E. use aseptic technique.

Which vaccination is required for all HCWs involved directly in patient care or handling human blood or tissues?
A. Hepatitis A
B. Hepatitis B
C. MMR
D. DPT
E. influenza

The removal of harmful microorganisms from an object is called:
A. sanitisation.
B. sterilisation.
C. disinfection.
D. decontamination.
E. pasteurisation.

The following is a list of precautions/items to prevent transmission of nosocomial infections.
1. Aseptic technique.
2. Personal protective equipment.
3. Room sharing by people with the same infection.
4. Cleaning of all surfaces within a patient's room after discharge.
5. Negative air pressure of the patient's room.

Which of these are 'standard precautions'?
A. 1, 2 and 3 only
B. 3, 4 and 5 only
C. 2, 3 and 4 only
D. 1, 2 and 4 only

Which of the following statements is false?
Standard precautions:
A. are the first line of approach to infection control.
B. were introduced to prevent transfer of bloodborne pathogens.
C. include aseptic technique.
D. are only used for symptomatic patients.
E. are used for respiratory patients.  

There is a high incidence of infection in hospitals because:
A. many medical procedures breach the patient's external barriers.
B. many patients in hospitals have lowered body defences.
C. there are many sources of pathogenic organisms in hospitals.
D. many patients are immunocompromised in some way.
E. all of the above are correct.

Patients who have a suspected bacterial nosocomial infection:
A. acquired the infection while in hospital.
B. should be monitored following departure from hospital.
C. are likely to require antibiotic therapy.
D. should be treated as infectious until confirmed otherwise.
E. All of the above are correct.

A procedure which often predisposes a hospitalised patient to a urinary tract infection is:
A. urinary catheterisation.
B. antibiotic therapy.
C. colonisation of periurethral areas with 'hospital organisms'.
D. immunosuppressive therapy.
E. diabetes.

Which of the following is a common type of hospital acquired infection?
A. Urinary tract infection
B. Surgical wound infection
C. Lower respiratory tract infection
D. Skin infection
E. All of the above.

An example of an endogenous infection would be:
A. infection of a surgical wound with organisms from another patient.
B. a lung infection in which the causative organisms are inhaled.
C. cystitis caused by organisms from the person's own gastrointestinal tract.
D. an infection which relates to some genetic abnormality.
E. a surgical site infection with MRSA.

Which of the following would not usually be considered the source of an exogenous nosocomial infection?
A. other patients
B. patient's normal flora
C. the environment
D. IV cannula
E. hands of staff

Common vehicle transmission means that:
A. people have been infected by different organisms from the same source.
B. people have become infected from a single source such a food or water.
C. all the people who are infected have been exposed to the same pathogen.
D. people have acquired the infection while travelling.
E. infection has occurred in all of the ways described above.

Faecal - oral transmission refers to the transmission of :
A. microorganisms which only affect the gastrointestinal system.
B. pathogens which are ingested and then excreted in faeces.
C. toxins produced in food before it is ingested.
D. microorganisms carried on a person's hands.
E. diseases acquired from infected faeces.

Pseudomonas aeruginosa is commonly associated with nosocomial infections of burns patients. The survival of this microorganism in hospital environments is aided by its ability to:
A. survive exposure to UV radiation
B. survive in harsh dry environments for prolonged periods of time.
C. adaptively resist a range of antibiotics when
growing in a biofilm.
D. survive in some disinfectant solutions.
E. both (c) and (d) are correct.

Methicillin resistant Staphylococcus aureus most
commonly colonises:
A. the bladder.
B. the liver.
C. the nose.
D. the lungs.
E. all of the above.

Streptococcus pneumoniae can be part of the normal flora of 5-40% of people. At what anatomic site can it be found7
0. Conjunctiva
0. Colon
0. Urethra
0. Vagina
0. Nasopharynx

Which tissue in a human is free from colonization by microbes (normal flora) because the organisms lack normal access to the tissue?
A. colon
B. stomach
C. lower respiratory tract
D. urinary tract (urethra)
E. blood (vascular system)

The second stage of obtaining of pure culture of aerobes will be:
A. Inoculating of a mix (material) on a solid nutrient medium
B. Studying of isolated colonies and inoculating on the slant agar 
C. Check of cleanliness of the pure culture and its identification
D. Biochemical and serological identification
E. Microscopic examination of a material

The third stage of obtaining of pure culture of aerobes is ____
A. Inoculating of a mix (material) on a solid nutrient medium
B. Biochemical and serological identification
C. Studying of isolated colonies and inoculating on the slant agar
D. Check of cleanliness of the pure culture and its identification
E. Microscopic examination of a material

 The material from patient for statement agglutination reaction with the purpose serodiagnostic is:
A. serum
B. diagnosticum
C. culture
D. agglutinated serum
E. physiological solution

What modern immunological methods do serve for the detection of the minimum concentration of viral antigens?
A. Polymerase chain reaction (PCR)
B. ELISA
C. Method with the use of monoclonal antibodies
D. Radioimmune method (RIA)
E. All of transferred

 What patent’ material is used for serological diagnostics (definition of a level of antibodies)?
A. serum of blood
B. pus
C. sputum
D. urine
E. liquor

 Which material do we use for identification Corinebacteria diphtheria 
A. urine
B. blood 
C. swabs from pharynx 
D. stool
E. csf 

 The most likely interpretation of the isolation of two colonies of E. Coli on a plate streaked from a urine sample is
A.  probable infection.
B.  normal biota.
C.  contamination

The most likely interpretation of the isolation of 50 colonies of Streptococcus pneumoniae is
A.  probable infection.
B.  normal biota.
C.  contamination.

The most likely interpretation of colonies of black bread mold on selective media used to isolate bacteria from stool is
A. probable infection.
B. normal biota.
C. contamination


Which of the following methods can identify different strains of a microbe?
A. microscopic examination
B. radioimmunoassay
C. DNA typing
D. agglutination test

In agglutination reactions, the antigen is a_______; in precipitation reactions, it is a_____ .
A.  soluble molecule, whole cell
B. whole cell, soluble molecule
C. bacterium, virus
D. protein, carbohydrate
6. Which reaction requires complement?
A. hemagglutination
B. precipitation
C.  hemolysis
D. toxin neutralization

A pathogen would most accurately be described as a
A. parasite. 
B. commensal. 
C. saprobe. 
D. symbiont

Direct immunofluorescence tests use a labeled antibody to identify
A. anunknown microbe.
B. anunknown antibody.
C. fixed complement.
D. agglutinated antigens.

The Western blot test can be used to identify
A. unknown antibodies.
B. unknown antigens.
C. specific DNA.
D. both a and b.

In a viable plate count, each____represents  a ____ from the
sample population.
A. cell, colony   
B. b. colony, cell  
C. c. hour, generation  
D. d. cell, generation

In 6 years old child with paroxysmal cough mucous from oropharynx was taken. This material was inoculated on glycerin-potatoes agar. In 72 hrs of cultivation at 37 C there were small greyish convex, and glistening, resembling globules of mercury appeared. What causative agent did cause this disease?
a. Haemophilus influenzae
b. Staphylococcus aureus
c. Neisseria meningitidis
d. Bordetella pertussis
e. Mycobacteria tuberculosis


